PROOF OUTLINE PROBLEMS

Directions:  Work the structure as far as possible.  If there is a standard form of argument for moving the outline further inward, in either direction, use it.  Don’t give reasons, just show the statements which would form the outline of the proof.

Let A, B, C, D represent sets.

(a)  Theorem:  A ( B

(b)  Theorem:  A ( B ( C ( D

(c)  Theorem: 
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(d)  Theorem:
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(e)  Theorem:  A is finite.

(f)  Theorem:  A = B.

(g)  Theorem:  A ( B.

(h)  Theorem:  |A| = n
(i)  Theorem:  |A| ( |B|

(j)  Let f be a function from A to B.  Theorem:  f maps A onto B.

(k)  Let f be a function from A to B.  Theorem:  f does not map A onto B.

(l)  Let f be a function from A to B.  Theorem:  f is one-to-one.

(m)  Let f be a function from A to B.  Theorem:  f is not one-to-one.

(n)  Theorem:  A is countable.

(o)  Theorem:  B is not countable.

(p)  Theorem:  The empty set is a subset of A.

(q)  Theorem:  x is in A – B.

(r)  Theorem:  (x, y)  is not in A ( B.
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